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SOLVING QUADRATIC EQUATIONS Solve the equation. SOLVING RADICAL EQUATIONS Solve the equation. Check for extraneous

solutions.
60.2(x —3)* =8 4(x + 1) =100 62. —3(x + 2= -18
2 2 > 2.V =1 33V +10=16 33, V2x — 13 = —
63.5(x — 7)° = 135 '@s(x+4)-=9 65.2a— 6 —45=53 32Vx=35 - V3 h 3
66—(h 82 =7 67.2r— 5P =8 sa(sHD’_Q:g 35.Vx + 56 = 16 36. Vi +40 = -5 372.Vor—5 + 10 =3
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SOLVING RATIONAL EXPONENT EQUATIONS Solve the equation. Check 38. %\/ 10x + 6 = 12 39.2VIx+4 - 1=7 40. 2V2x— 1 +4=0
for extraneous solutions.
5 X x—|2=\/1m a2 Vit +1 =3¢ 43V +5=x+3
23. % =32 2.0 -2=0 25 3 +15=24 : L1 s
. X 4. Vi=x-6 EV&+ =x+2 46. 2+ p=x+ g
26. —x'" =10 27. 4% = 108 28 (x— 4= -6
- SOLVING EQUATIONS WITH TWO RADICALS Solve the equation. Check for
‘z:sl (x+5"=4 30. 3(x + )" =48 3. —(x— 5"+ % =2 extraneous solutions.
47.V2x =1 =Vx+4 a8 Var—5 =Va+ 10
—
a9. - [8v+% = 2+ 1 50.2V10 — 3x = V2 —x
5. Vr + Vi+3 =0 52.Vx—6 — /—_r

E;"/Zv+l0—2\/;=0 5. Ve + 15 - 3Vx =0




